Post-SLO Study Guide
1.) An organic compound is defined as:  ______________________________________________
2.) Which of the following examples shown below is NOT an organic compound?  

Be sure you can explain WHY!

	Quest 2
	Compound A
	Compound B
	Compound C
	Compound D
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	Reason Why =>
	
	
	
	


3.) Use the chart below to compare the two cell types noted.
	Prokaryote
	Eukaryote
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4.) List the levels of Biological Organization.
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	Level  #2: 

Level  #4:

Level  #5:

Level  #7:

~~ ORGANISM ~~

Level  #9:

Level  #10:




5.) Provide the missing steps for the scientific method.  

[image: image8.png]The Scientific Method

Initial Observation is needed ...

Question o Identified

Ask a question, and then research your topic.
Step #2 ?2?? Statement Format: If ...
“ "What’s your best guess? (independent variable),

Procedure then (dependent

Write very specific directions for your experiment.

Step #42?2?

* Observe closely and record data.

Data Analysis

Organize and’evaluate your data.

Conclusion
What did you find? Was your hypothesis correct?

Step #7 ?2??

Create a display and present to the judges.




Step #2: ​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​​ ______________________________________________
Step #4: ______________________________________________
Step #7: ______________________________________________
6.) Based on the experiment that is described below, identify the following: 

	
	Term Definition  

** Remember: “I CAN’T DO MATH”
	Identify based on Experiment

	Control
	
	

	Independent Variable
	
	

	Dependent Variable
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A farmer wanted to test whether fertilizer, when
added to the soil, caused his tomato plants to
make more flowers. He purchased 20 tomato)
plants that were all about the same age and
relative size, He repotted these 20 plants so that
each was inian identical container with 500 grams
of soil. Then the farmer split up'the plants into
two groups of 10 and added fertilizer to the soil
only one of these groups. He was sure to water:
them every other day by adding exactly 500 mL of:
water to each pot.




	


7.) The design of an organism and location of specialized cell types, like eyes, is a part of its overall: __________________________________.
8.) _________________________ is the purpose behind the development of a specific design for that kind of organism.
9.) Why do carbon atoms bonds easily with other atoms including other carbon atoms.  

10.) Define Entropy.   ____________________________________________________________________.

11.)  _______________________________   process by which plants transfer light energy (sunlight) 

into chemical energy  that is stored in the form of _______________________________.

12.)  Useable energy is called: _______________________________.

13.) Define the seven characteristics of life.  You may need to use your “Reference Guide” to find all the necessary information! 

	Characteristic
	Definition
	Provide an Example

	Metabolism
	
	

	Heredity
	
	

	Homeostasis
	
	

	Response
	
	

	Cellular organization
	
	

	Reproduction
	
	

	Growth and development
	
	


14.) Describe the structure of a lipid molecule. 

15.) Use the chart below to compare the two types of material transport into/out of a cell..

	
	Passive
	Active

	Concentration Gradient
	
	

	Energy
	
	

	Materials Transported
	
	


16.) Passive transport of water across the cell membrane is called  

_______________________________.
Guided notes through page 7 of today’s presentation.
